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DISCOVERING PREESTABLISHED HARMONY::
THE HOLY TRINITY IN PRIME NUMBERS

By Pierre Beaudry, 11/26/2023

Figure 1. Modular wave

Locate all of the prime numbers into their harmonically preestablished
positions by modular wave circular action only. All of the prime numbers will be
found in six waves, 1, 2, 4, 5, 7, and 8 because the position of each prime number
depends on the sum of its integers. However, after you have entered the first 100
primes, three waves 3, 9 and 6 will be left out without any primes. Why?
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Figure 2. Modular wave of the first 200 prime numbers

When all of the primes are located in a triply-connected fashion in six of the
nine waves taken two by two:[1+2] , [4+5], and [7+8], the mystery of their

positions vanishes when they become integrated back into waves 3, 9, and 6. How
can that be?

2L INBRTRY 13047 19,237,
29,31,37,41,43,47,53,59,
61,67,71,73,79,83,89,97

Solution to the mystery of the six series taken two by two into waves 3, 9, and 6:

1+42=3 4 +5=9 7 +8=6
19+11=3 13+23=9 43+17=6
37+29=3 31+41=9 61+53=6
73+47=3 67+59=9 79+89=06
97+71=6
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Once you have discovered that the six series of primes are preordained into
six series, two by two, the singularity of the triply-connectedness of 3, 9, and 6
becomes clear. The discovery implies a transfinite jump between triply-
connectedness and the primes, as does a One with respect to the Many. But, why
do all of the series of integers, taken two by two, add up to 3, 9, and 6?

The only way to understand this leap of faith is to understand the higher
integral as a transfinite leap. If you use Lyndon LaRouche’s problem-solving
method, you will not only be able to increase the energy flux-density of your own
mind, but also the transfinite levels of other minds as well. I am not saying that
such a solution is easy; | am simply saying that this is the only way that it can be
done.

The reason this is a unique transfinite solution is because 3, 9, and 6, are a
reflection of the Holy Trinity and of its power of triple-connectedness. The
guestion you must continue to ask yourself is why? Why are all of the other
numbers excluded from the waves of 3, 9, and 6, and yet they are all included in
them, two by two, from this higher level? How can these three numbers 3, 9, and 6
be excluded and included at the same time?

The answer is that if you integrate 1, 2, 4, 5, 7, 8, two by two, at a higher
level, you will find that everything will turn out to be folded into 9, because 1+2 =
3;4+5=9, and 7 + 8 = 6; and therefore, ultimately, 3+ 6 + 9 =18, thatis 1 + 8 =
9, which is the One of the Many.

That is the reason why the modular wave | chose to construct this module
was 9 to start with. In fact this module of 9 waves does not integrate only prime
numbers, but all numbers.* (See Figure 3.)

1 You see, you have been able to discover even what Tesla was not able to figure out.

https://www.youtube.com/watch?v=6ZrO90A10c8&t=7s
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https://www.youtube.com/watch?v=6ZrO90AI0c8&t=7s

Figure 3. All number modular wave (4 x 9 = 36)

FIN
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